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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This Question Paper contains 38 questions. All questions are compulsory.
(i1) Question Paper is divided into five Sections — Section A, B, C, D and E.

(iii) In Section A — Questions no. 1 to 18 are Multiple Choice Questions
(MCQs) and Questions no. 19 & 20 are Assertion-Reason based questions

of 1 mark each.

(iv) In Section B - Questions no. 21 to 25 are Very Short Answer (VSA) type

questions, carrying 2 marks each.

(v) In Section C — Questions no. 26 to 31 are Short Answer (SA) type

questions, carrying 3 marks each.

(vi) In Section D — Questions no. 32 to 35 are Long Answer (LA) type

questions, carrying 5 marks each.

(vii) In Section E — Questions no. 36 to 38 are case study based questions,

carrying 4 marks each.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 3 questions in Section C, 3 questions in

Section D and 2 questions in Section E.

(ix) Use of calculators is not allowed.

SECTION - A

This section consists of 20 multiple choice questions of 1 mark each. 20 x 1 =20

1. The lines 1- =2 =_" and 2x—3: y :Z_4
2 3 1 2p -1

are perpendicular to

each other for p equal to :

1 1
A - 5 B) 3
©€) 2 D) 3
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2. g Tmme T (LPP) fSaeht gEma & guiien TR 7, o 329 el Z = 4x + y

ARFIH AR 2 :
A) 50 (B) 110
(©) 120 (D) 170

3. e U Agfess =X X 1 IRkl seq, e g

X 0 1 2 3 4

PX) |01 | k| 2| k| o1

&l k Teh TR 3T 2 |
I Ag s = X 1 7H 2 B i TTRehT &
1 2
@ - B) —
4
(©) 5 D) 1
2 -1 5
4. ACA=[ay]=|1 3 2| BTU c; I a;; FI HEGE &, @ a,; - €11 + 8y, Cy
5 0 4
+a23-013f‘=b‘ﬂ=|'|=[%:
(A) —57 B) 0
© 9 D) 57
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2.

The maximum value of Z = 4x + y for a L.P.P. whose feasible region is

given below is :

A) 50 (B) 110
(©) 120 (D) 170

The probability distribution of a random variable X is :

X 0o |1| 2 |3]| 4
PX) | 01|k |2k | k| o1

where k 1s some unknown constant.

The probability that the random variable X takes the value 2 is :

1 2
@& - B) -
4
© < D) 1

-1 5

ij

2
IfA=1Ja]=|1 3 2|and C; is the cofactor of element aji, then the
5

0 4
value of ay; - ¢;; + @99 €19+ 895 Cygls:
A) 57 B o0
©) 9 (D) 57
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5. aﬁA:E ﬂ BAAMAZ_KA-5I=0%, Ak HAAS :

@A) 3 B) 5
<o 7 D) 9

6. aﬁeﬂy:c%,?ﬁ%wé:
X

2

xe* Y —2y
(A) %y (B) .
(C) 2y (D) x

X 2y

x2—c2, Aex<4

cx+20,?1ﬁx24§m £, i

7. wCaﬂagm,ﬁués%mf(x):{
ITEdTareh T3 o U Taqd &, 8
@A) -2 B) -1
© 0 D) 2

1
8. I |x| dx HTHAS :
-1
@) -2 (B) -1
© 1 D) 2

9. 3T THIH log (dy] = 3x + 4y; y(0) = 0 % T3 a1 ¥ Iufea == 3=m

dx
TS :
(A) 2 ®) 1
© 0 D) 3

a c 0
10. ZIﬁ{b d O}@ﬂﬁﬂﬁ%(scalarmatrix)%,?ﬁa+2b+3c+4d7=b"[13l17-[%

0 0 5
A o B) 5
(©) 10 (D) 25
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5. IfA=B ij and AZ — kA — 51 = O, then the value of k is :

4) 3 B) 5
©) 7 D) 9

6. Ife™ =c¢, then ﬂ 1S :

dx
xe®Y -2y
A) B —
2y X
© = o =
X 2y

7. The value of constant ¢ that makes the function f defined by
Jx?-c?, ifx<4
f(x>_{cx+20, ifx>4
continuous for all real numbers is :
@) -2 (B) -1
<€ 0 D) 2

1
8. The value of I x| dx1is:
-1
@A) -2 B) -1
© 1 D) 2

9. The number of arbitrary constants in the particular solution of the
differential equation

log (?j = 3x + 4y; y(0) = 0 1s/are
X

@A) 2 (B) 1
© 0 D) 3
a c 0
10. If |b d O] 1s a scalar matrix, then the valueof a + 2b + 3¢ + 4d 1s :
0 0 5
@A 0 B) 5
(©) 10 D) 25
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11.

12.

13.

14.

15.

16.

qﬁA:LZ _12}%,?ﬁI—A+A2—A3+...%:

—1 -1 (3 1
@) 4 3} ®) 4 —J
0 0 1 0
(C) 0 0} (D) 0 J

2 -1 2 -1
o ol

12 -1 1[2 -1
© ?{3 2} ®) 5{3 2}

JAThel GHIHIT (x + 2y2) 3—3' =y (y > 0) 1 THTH 0T § :
X

feamgfeA-l= %{ 23 ﬂ%,?ﬁaﬂa@'A%:

@ * ®) x
X
1
C) vy D) -
y
%@T?:1A+§—1A<+x(3€—§)%éaaﬁﬂﬁsr%:
(A) 5i +] +6k B) i+3]+5k
©) 2i -2j ®) 95 —3]

wewa =2i —j +k, b =i-8] —5kauc =-3i +4] +4k g B
1 et FEd H 8, T8 7

(A) T gueTg s (B) TH AfRh-hI s

(C) T HHigeTg Frget (D) U HHhIT Byl

TR o u tEarw g Rk R | a | =ad, @

|;x€|2+|;x3|2+|;xfil2wtﬂqé:
(A) a2 (B) 2a2
(C) 3a2 D) 0
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11. IfA= {_2 _12}, then the value of T — A + A2 — A3 + ... is:
@) _‘41 ‘31} ®) __3 ) _11}
o fy o !

12. Given that A-l = %[_23 ﬂ matrix A is
o ol
o iy o it

13. The integrating factor of the differential equation (x + 2y?) 3—}7 =y (y >0)
X

1S :
1

@ X B) =
X

© v o =

y

N A A A A A
14. A vector perpendiculartotheline r =1 + j —k +A(31 — j)1is:

(A) 51 +j +6k B) 1 +3j +5k
C) 21 -23 D) 91 -3j

AN AN N —> A AN A

N A A - A

15. The vectors a =21 — jJ +k, b =1 -3j —bkand ¢ =-31 +4j) + 4k
represents the sides of
(A) an equilateral triangle (B) an obtuse-angled triangle
(C) an isosceles triangle (D) aright-angled triangle

16. Let ; be any vector such that | ; | = a. The value of
> N2 - N2 > N 2.
la xi1|"+|laxj|"+]axk]| 1s:
(A) a2 (B) 2a2
(C) 3a” D) 0
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17 A aqnb AW ARTERF |al =1 |bl=2da b =432 a
2% T —b FATH IO :

T T
(A) s B) 3
51 11n
(C) - D) r
18. oM f(x) = kx — sin x R 9¢mm 7, afe
A) k>1 B k<1
©€) k>-1 D) k<-1

ARTHYA — ek TG T

9§ 19 T 20 § Tk IRRYA (A) % 91¢ Tk e (R) fear & | 1 § 9 =l s

LT

(A) IR (A) 91 Th (R) THI T & | b (R) TMRYA (A) 1 T IR Haa
2|

(B) AfRYA (A) T T (R) GHI 9 & | Toh (R) IR (A) 61 git = T8l
T |

(C) TR (A) ¥ &, Tg o (R) 3EA 2 |

(D) IARTHUT (A) 3T & Te(h db (R) T2 |

19. IR (A) : et LPP % fore ufterg g@ma & % v foig qafe e g |
7 = x + 2y 1 3T(Uehad OH = fogali W 2 |

T (R) : T LPP {75k gea &= aiag 21, o1 3500 8 v fog WA 2 |
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- - - - -
17. If a and b aretwovectorssuchthat | a |=1,| b |=2and a

18.

- -
then the angle between 2a and —b 1is:

T T
(A) 5 (B) 3

5T 11x
© 3 (D) e

The function f(x) = kx — sin x is strictly increasing for
A k>1 B k<1
(C) k>-1 D) k<-1

ASSERTION-REASON BASED QUESTIONS

-
b

V3,

Questions No. 19 & 20, are Assertion (A) and Reason (R) based questions
carrying 1 mark each. Two statements are given, one labelled Assertion (A)

and the other labelled Reason (R).

Select the correct answer from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and the Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The corner points of the bounded feasible region of a
L.P.P. are shown below. The maximum value of Z = x + 2y occurs at

65/4/2/21/QSS4R

infinite points.

Reason (R) : The optimal solution of a LPP having bounded feasible

region must occur at corner points.

Page 11 of 24
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20.

21.

22.

23.

24.

25.

IRHUT (A) : TIT R = {(x, y) : (x + y) Th 39T T2 qAT x, y € N} Th Wged
TEY T8 3 |
e (R) : Tt ITehd E&A13T n < fTT, 2n T AT G&T1 # |

Qg - g

39 @UE 1 5 (0 g I aTet A &, T8 Tish o6 2 31 ¢ |

T B 1 AR 6 cm®/s 1 GH 96 T 8 | 99 1 JEIT 8% 8 L H G T 8, I
3o TohT b1 &S 8 cm B ?

(a) %n<x<géﬁ1%fqtan_1( cosx ]aﬁumwmﬁwwﬁﬁﬁml

1—sinx

AT

(b) tan! (1) + cos™! (— %) + sin! (— %) T & T AT hHIIT |

e 3 fn) = 50X —x;{O,E}ﬁxW@HWW%I
2+cosx 2
(a) IfCy=cosd (sec22t)%,?ﬁ%§ﬂﬁﬁﬁml
YT

(b) Aoy =ev-vE, A g difm fp W o 1087

dx  (1+logx)?

1
2
T T ST jcosx log( ] dx
— X
=

2
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20. Assertion (A) : The relation R = {(x, y) : (x + y) is a prime number and x, y € N}

1s not a reflexive relation.

Reason (R) : The number ‘2n’ is composite for all natural numbers n.

SECTION - B
In this section there are 5 very short answer type questions of 2 marks each.

21. The volume of a cube is increasing at the rate of 6 cm?®/s. How fast is the

surface area of cube increasing, when the length of an edge is 8 cm ?

COS X

22. (a) Expresstan™! ( -
l-sinx

j, where _7% <x< g in the simplest form.

OR

(b) Find the principal value of tan™! (1) + cos™! (— éj + sin™! (—

)

23. Show that f(x) = _dsmx x 1s an increasing function of x in | O, .
2+cosx 2

24. (a) Ify=rcos® (sec? 2t), find %
OR

(b) IfxY=e*"Y, prove that dy = log x

dx  (1+logx)?

25. Evaluate :

D 1

cos x -log (1+x] dx

e} 1-—x

2
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26.

27.

28.

29.

30.

CLC
39 @UE H 6 G-I YHR o T &, [ I o 3 31 7 |

feam 3 6 47 + y*¥ = aP B, &l a AU b YHTCHS TR F, ?aﬁﬁﬁm
X

(a) 3TdheT THHWT ? =y cot ZxWWEHWW,W%%y(gj =2 |
x
JHAYAT

(b) Wﬂﬁw@e% +vy) dx = x dy o1 fof3e &t F1a@ Fifsw, femg fry =1
BT x=1% |

(x+3)

(a) 52 Ul hl 3= YhR T el TS AT <hl TE! H & Teh U1 @I AT & | A9 9=l 7 &
ATGTSAT Th Il HehTell STl &, S S1ESIE STell Ol U STl & | @1 7T O o6
STCIITE ST U1 B4 ShT TRIehdT ST ShifTy |

JAYAT

(b) e AT ITH T AHEEAT 3T < STRIehal, foraw €@ < 31 shl Iiehar & g
2 | 30 U %I g1 IR IBTAT TAT | B: 37 hl TEAT < JTRIhdT 97 T I | 39
e o1 Arey ot ra HIifu |

o= Yt ST S 1 T g B iR ;
el x + 2y < 200
x+y<150
y <75

x,y>0
o AW Z = x + 3y T AThaHIHIT HIfY |
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SECTION - C

In this section there are 6 short answer type questions of 3 marks each.

X .. |
26. Given that &Y + y* = aP, where a and b are positive constants, find .

dx

27. (a) Find the particular solution of the differential equation dy =y cot 2x,

given that y(gj = 2.

OR

(b) Find the particular solution of the differential equation

y
(xe* +y)dx =xdy, given that y =1 when x = 1.

28. Find: [ _2XH43 gy

x2(x +3)

29. (a) A card from a well shuffled deck of 52 playing cards is lost. From the
remaining cards of the pack, a card is drawn at random and is found
to be a King. Find the probability of the lost card being a King.

OR

(b) A biased die is twice as likely to show an even number as an odd
number. If such a die i1s thrown twice, find the probability
distribution of the number of sixes. Also, find the mean of the
distribution.

30. Solve the following L.P.P. graphically :
Maximise Z = x + 3y
subject to the constraints :
x + 2y <200
x+y<150
y <75
x,y=>0
65/4/2/21/QSS4R Page 15 of 24 P.T.O.




31.

32.

33.

34.

@ E-q
Y QWU IR -3 9Tl I 2 | Ik T <6 5 34’%% |

(a) AMA=R—-{5}aaM B=R—{1} 8 | f(x) =

T formm ife |W%f%am%l
HAYET

(b) it shIfTT fop o weft aredfass Tensti & ag=g R | giefya dey
S={(@a,b):M&a—b+ V2 TH g T2}
e, FEMd 3T H5hH § |

(a) %@nx 2y 6_1 lzamsaﬁ;wm@m‘(@a‘rﬁg (4, 0, —5) T BT

:vn?ﬁ% %aﬁaaﬁaﬁaﬁaﬁﬁm
T

x-1 y—-2 z-3 x—1 y-1 z-6
(b) tri%%@m_?) T3 T = __7qrwaaa'cr%a“1k

T HH F1d HINT | 37d: IUed eHT G137 o Aead Ueh W& o1 Hie THIH
faftag, S fag (3, -4, 7) AR 2 |

1 2 -3)(0 1 2
3+|oe1\s\iésgumhbc1{3 2 2}{7 7 7}%%%@@%%%
2 -1 1 J\-7 5 -4
ﬁ%ﬁ@ﬁm:
x+2y—32=6
3x+2y—2z=3
2x—y+z=2
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x dx

%
31. (a) Evaluate: 2[1 + cos 2x + sin 2x

OR
i 1 X
(b) Find: |e* + dx
j L+x2)? Vl+x?
SECTION - D

In the section there are 4 long answer type questions of 5 marks each.
32. (a) Let A=R - {5} and B = R — {1}. Consider the function f : A —»> B,

defined by f(x) = ¥—3 . Show that f is one-one and onto.

OR
(b) Check whether the relation S in the set of real numbers R defined by

S ={(a, b) : where a—b + V2 is an irrational number} is reflexive,
symmetric or transitive.

X 2y-6 1-z

33. (a) Find the distance between the line 22 n and another
line parallel to it passing through the point (4, 0, —5).
OR
) If the lines S L-¥—2_273 .4 X1 y-1 276 .,
-3 2k 2 3k 1 -7

perpendicular to each other, find the value of k and hence write the
vector equation of a line perpendicular to these two lines and passing
through the point (3, —4, 7).

1 2 -3)(0 1 2
34. Use the product of matrices |3 2 —-2||-7 7 —7| to solve the
2 -1 1 )\-7 5 -4
following system of equations :
x+2y—32=6
3x+2y—-2z=3
2x—y+z=2
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35. (a) Th y = x|x| T oG GifaT | 37d: 39 a5k, X-318T qUT HifeAT x = —2 T
x = 2 % o9 R &7 1 STHA GHTRH § [ IR |

AT

(b) THTHSH % TANT § drElgd 9x2 + 25y2 = 225, W3 x = —2 T x = 2 IR
X-3187 & &t feR &1 o1 et Td hiiNTT |

gis -

TH GUS U 3 TJehTUT ST T3 & | Th To 6 4 37k 3§ |

36. Ueh WA hg U Ueh TRk Ueh ORIy dRHeSd | o8 IHehIcl dF fami 1 ewifdn 2 |
T o {5 i O (0, 0, 0) W ferd & 7o fi frardi i feufemt D, A 9o VR 38 ym 3

A A AN A A A A AN A
fop 376 feafa-afewrshm: 21 +3j +4k, 71 +5) +8k @aM—31 +7j +11k
g

ST o YR I 4 o ISR
() faamv, AR AR frafigime?

(i) —DZ &1 feem T weh Uehsh—HfesT T I |
(i) £VDA %1 1M FTd I |
YT

—> —
(iii) @fesr DV s afesr DA W 989 fhaaT 2 ?
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35.

36.

65/4/2/21/QSS4R Page 19 of 24 P.T.0.

(a) Sketch the graph of y =x|x| and hence find the area bounded by this
curve, X-axis and the ordinates x = -2 and x = 2, using integration.

OR

(b) Using integration, find the area bounded by the ellipse 9x2 + 25y2 = 225,

the lines x = -2, x = 2, and the X-axis.

SECTION - E
In this section, there are 3 case study based questions of 4 marks each.

An instructor at the astronomical centre shows three among the brightest
stars in a particular constellation. Assume that the telescope is located at
0(0, 0, 0) and the three stars have their locations at the points D, A and V

A A AN A AN

A A A A
having position vectors 21 +3j +4k, 71 +5j) +8k and-31 +7) + 11k

respectively.

Based on the above information, answer the following questions :

(1) How far is the star V from star A ?

>
(11) Find a unit vector in the direction of DA .

(111) Find the measure of ZVDA.
OR

—> —>
(111) What is the projection of vector DV on vector DA ?




37. Ufgd, s 37k amferan s € ug <t i fifsaai o foe anemepr & foe 3ufea gu |

fiet 3 <1 ST B STk % 2, i % T 9 6 ST % oI TR 3 o 9

E2RlIREN Il i 3 | = ] T Uoh GHL 8 &0 ¢ |

ST TR o TR 9T 107 I3 & ST <
(i) 39 T A W HA Teh o G4 T ! TRHAT RS ?

(i) P(G| H) Fma HIfST &t G, Tesfid o g4 S 1 guiid! & a1 H Ufga = 9 g4
I Sl e 2 |

(i) 3TH ¥ Haet Ueh o T TH =ht TTRrehdT 3Td SHIFT |
YT

(iii) I8 W IS Gl o T ST <hl JTHRIehdT FTd T |
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37. Rohit, Jaspreet and Alia appeared for an interview for three vacancies in

. : : .1
the same post. The probability of Rohit’s selection 1is = Jaspreet’s

) o1 ) ) | ) )
selection 1is g and Alia’s selection 1is Z The event of selection 1is

independent of each other.

Based on the above information, answer the following questions :

(1) What is the probability that at least one of them is selected ? 1

(i) Find P(G | H) where G is the event of Jaspreet’s selection and H

denotes the event that Rohit is not selected. 1

(111) Find the probability that exactly one of them is selected. 2
OR

(111) Find the probability that exactly two of them are selected. 2
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38. TH WR, Hhepoicd T 350 Ui Shespeted o W U o9 T & | HIh o Ueh &9 o AR

Tod (p) o T W fofehd aTeT Shogpeiedl hl TAT (x) ¢ It & | oI 3R feeh are

T T &, AT HT B  p = 450 — %x@ﬂl’[ﬂﬁﬁ%

IGURT o SR I 7 T941 o 3T IR

(i)  3ATehad 3™ R(x) = xp(x) I A o ToT fora 318 (x) S=H 8 ? 3199 I
&1 G hIfT |

(ii) TR 3T o TeTT Teh hepeted o ool hl W 3l fehaHT THT BT 2
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38. A store has been selling calculators at ¥ 350 each. A market survey
indicates that a reduction in price (p) of calculator increases the number
of units (x) sold. The relation between the price and quantity sold is given

by the demand function p = 450 — %x

Based on the above information, answer the following questions :

(1) Determine the number of units (x) that should be sold to maximise

the revenue R(x) = xp(x). Also, verify the result.

(1) What rebate in price of calculator should the store give to maximise

the revenue ?
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